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QUESTION 1

Statement 1: We have a RAID5 protected group of disks. The protection level increases if we add more disks to the
group. Statement 2: With a RAID 10 set the number of disks must be greater than 8 to always survive a dual disk
failure.

A. Statement 1 is true and statement 2 is false.

B. Statements 1 and 2 are both true.

C. Both statements 1 and 2 are false.

D. Statement 1 is false and statement 2 is true.

Correct Answer: C

QUESTION 2

It provides connection between sets of nodes and allows the connected devices(nodes) to communicate with each other
but it is not a device. Which of the following fits the above description?

A. Host.

B. Network.

C. Storage Array.
D. Switch.

Correct Answer: B

QUESTION 3

The disadvantage of full backup is that it requires the last full backup and the most recent differential backup to fully
restore data.

A. TRUE
B. FALSE

Correct Answer: B

QUESTION 4
Which of the following is correct? (Multiple Choice)
A. Only when a snapshot is activated will the system record all changes to the original LUN.

B. A snapshot needs to be removed from the LUN group to be fully unmapped.

Latest H13-611 Dumps | H13-611 PDF Dumps | H13-611 Study Guide 2/6


https://www.passapply.com/h13-611.html
https://www.passapply.com/h13-611.html
https://www.passapply.com/h13-611.html

VCE & PDF https://lwww.passapply.com/h13-611.html
2024 Latest passapply H13-611 PDF and VCE dumps Download
PassApply.com

C. SmartTier supports a High Performance, a Performance, a High Capacity and a Capacity Tier.
D. To write data to the secondary LUN of a clone pair, the pair must be split.

Correct Answer: ABD

QUESTION 5

Which of the following disk interface technologies use serial interface technology? (Multiple Choice)
A. ATA

B. SATA

C.sas

D. IDE

Correct Answer: BCD

QUESTION 6

Which of the following dimensions are often used to express the data used in Big Data scenarios? (Multiple Choice)
A. Variety

B. Volume

C. Velocity

D. Verticality

Correct Answer: ABC

QUESTION 7

Which of the following are the 3 layers of components that storage systems are made up of? (Multiple Choice)
A. Storage Analysis

B. Storage Solution

C. Storage Software

D. Storage Hardware

Correct Answer: BCD

QUESTION 8
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What is the main difference between mechanical drives such as SAS with solid state drives(SSD)?
A. The presence of mechanical parts.

B. The performance of the hard drive.

C. The capacity of hard drive.

D. The lifespan of hard drive.

Correct Answer: A

QUESTION 9
Statement 1: RAID 2.0+ offers better protection against data loss than traditional RAID and it performs much better

Statement 2: To rebuild a RAID 2.0+ protected failed drive takes a lot of time as all drives are involved in the rebuild of
the spare disk.

A. Statement 1 is true; Statement 2 is false.
B. Statement 1 and 2 are false.

C. Statement 1 is false; Statement 2 is true.
D. Statement | and 2 are true.

Correct Answer: A

QUESTION 10

Match the correct functionalities together: (1) laaS (2) Hybrid (3) SaaS (a) Combination of public and private (b)
Applications are hosted externally (c) Hardware is outsourced.

A. 1-a; 2-b; 3-c
B. 1-b; 2-c; 3-a
C.1-c; 2-a; 3-b
D. 1-b; 2-a; 3-c

Correct Answer: C

QUESTION 11

Statement 1: Creating an incremental backup is faster than creating a differential backup. Statement 2: Restoring from
an incremental backup is faster than from a differential backup.

A. Statements 1 and 2 are both true.
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B. Statement 1 is true and statement 2 is false.
C. Statement 1 is false and statement 2 is true.
D. Both statements 1 and 2 are false.

Correct Answer: B

QUESTION 12

Which of the following is not a component of a backup system?
A. Backup software

B. Backup media

C. Backup server

D. Backup policy

Correct Answer: D

QUESTION 13

In HUAWEI OceanStor V3,what statement is true about SmartThin LUNS?

A. Space will be reclaimed in all Windows operating systems when data is deleted in the OS.
B. A Thin LUN cannot be converted into a Thick LUN.

C. SmartThin must be enabled on all LUNs of a storage pool.

D. SmartThin LUNs consume just a little storage capacity at the time they are created.

Correct Answer: D

QUESTION 14

What are the advantages of SSDs over HDDs? (Multiple Choice)
A. Larger capacity

B. Faster read/write speed for random access

C. Better environmental adaptability

D. Longer service life

Correct Answer: BC
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QUESTION 15

In which layer in the architecture of a typical Big Data processing system does the data mining and business intelligence
process are performed?

A. Application/Presentation Layer.
B. Data Processing Layer

C. Data Analysis Layer.

D. Data Storage Layer.

Correct Answer: C
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